H O, 220 2y (21 + 22 + - -+ + 2,) = 100n.
BRo +ao+ o, > 1+ 14+ 1 =n, Waas- -2, <100. BIRE
FIVERAL, W 22y - -2, < 99. T
riTy - xy = [(x1 — 1) + 1[(xe — 1) + 1] -+ [(z, — 1) + 1]
> (= 1)+ (2 —1)+ -+ (z, - 1)+ 1
=x1+22+-+r,—n+1,

i1

1+ Lo+ -+ 2, <z1x2 Ty, +n—1<n-—98.

T/ 99(n — 98) > 100n, fi#fF n < 99 x 98 = 9702.
.[H:Hﬂ‘ﬁl T = 99, T9g = T3 = +++* = XTg702 — 1 ﬂ{%%%ﬁij U

3. WA, £ AABC ¥, D A3 BC E— %, &
ANABD #a ANACD &g RS A A I A= I, AALD #=
NALD #9885 B HA Oy F2 Oy, A 1102 5 L,O; X
F.& P. Kif: PD 1 BC.
(Fk3%Ma fHLAR)

we LJy B . B, SEK DI, CLy 28T /L Jy, W Jy 2 AACD fi C NI S50,
H Oy 72 L, B AL

JCE PLE PR, R IR
SiIléP/DIQ SiIléDleg SiHZOl.[QIl

. . = 1.
Sil’léP/Dll SiIllOQ]l]Q SiIléDlgol
HL b, B O0yJy = Oy H Srour g, = SAoeni
Fir LA
28
sinZDL0y  sinZO0xl1Js  Torer Ly
sin Z0o11 I, sin Z0oI11,  2520,n15 [ J,°
I115-11 09
B, 20k — L, L ShEBL — snlCBL L G

IQJl - COS AC_DIQ —1
IiJy-cos /ZBDI;
Bl I,.J, 1 I, Jy, 7£ BC' ERIFEK FEEARA].
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